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(kg.”m) (m) (kg)
f ff n° S1|D13| 0.995 | 4 | 3.020 | 12.020
’ $2 |D13| 0.995 | 2 | 2.558 | 5.090
@ $3|D13| 0.995 | 2 | 1.736 | 3.455
S4 |D13| 0.995 | 2 | 1.524 | 3.033
@ @ $5 |D13| 0.995 | 15| 1.320 | 19.701
$6 |D13| 0.995 | 2 | 1.052 | 2.093
$7 |D13| 0.995 | 2 | 0.783 | 1.558
$8 |D13| 0.995 | 2 | 0.590 | 1.174
S9 |D13| 0.995 | 2 | 0.514 | 1.023
$10|D13| 0.995 | 1 | 0.490 | 0.488
S11|D13| 0.995 | 2 | 0.980 | 1.950
$12|D13| 0.995 | 2 | 0.766 | 1.524
$13|D13| 0.995 | 2 | 0.670 | 1.333
$14|D13| 0.995 | 1 | 0.640 | 0.637
$15|D13| 0.995 | 2 | 0.727 | 1.447
$16|D13| 0.995 | 2 | 0.780 | 1.552
‘ ‘ ‘ ‘ $17|D13| 0.995 | 2 | 0.930 | 1.851
= ‘ . \ \ . \ $18|D13| 0.995 | 2 | 0.816 | 1.624
vt 191013l 0995 | 1 | 2500 | 2511
8 $20|D13| 0.995 | 1 | 2.995 | 2.980
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